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APXEX OIKONOMIKHX OEQPIAX
MAGOGHMA EIIIAOI'HX
AITANTHXEIX

OMAAA A
Al. X
A2. X
A3. A
Ad. A
AS. X
A6. Y
A7.d

OMAAA B

cer.100-101 oyoA. Biriov

[XK0TOG TOL KPATOUG ... Y10 VA OTOPEVYETAL 1) LAOPT 0yOpd]

OMAAAT
2004 2005 2006
Twn 200 210 224
[TocotnTO 1.000 1.200 1.500
AEII (1p.1) 200.000 252.000 336.000
AT (%) 100 105 112
AEII (o1.7) 200.000 240.000 300.000
Koatd kepoinv
rpaynaticd AEIT 160 184,5 200
[TAnBvouoc 1.250 1280 1.500
Epyatiko duvouiko 1.000 1024 1.200
AmoceyoAoduEVOL 900 896 1.050
Avepyoc 100 128 150
[Tocoa10 avepyiog 10 12,5 12,5
I'1.
2004
KKHPU{YH AEH2004 :M
[TAnBvouog

_ IIpayp. AEIT
1250

160 = TIpowyp. AEIT = 200.000
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Emne1om 1o 2004 eivan £10¢ Bdomng oyvet
AEH(TP.T.)2004 = AFEII (GT.T.)2004 =200.000

AEH(Tp.T.)2004ZP'Q
200.00=200Q = Q=1.000
80
E.A>004 m -1250 =1000
E.Aypps=AmacyolodueVOL 2004 TAVEPYOL004
1000 =900 + Avegpyor
Avepyor =100

Avepyot ~ 100

100 =——-100=10
1000

[Tocootd Avepylocrgos = -
Epy.Avvopko

2005
AEII(Tp.1.)2005=P"Q=2101.200=252.000
AEH(GT.T.)2005:P2004'Q2005: 2001.200=240.000

AETI(67.7.)a005= 2EPDas 100 — 240,000 = 222290 109 = AT, , =105
AT 2005
2005 2005
K K.TTparyp. AETTygps = (O 0uns _ 240000 _p o _ 80 4 heh 1 024
[TAnBvouog 1280 100

E.A2005:A7I(10X07\401,)M8V01 2005 +AV8P’YOl20()5
1024 =896 + Avegpyot
Avepyor =128

2006
AETI(tp.T.)2006=P Q=2241.500=336.000

AETI(67.7.)p06= PP Daws 10 = 300,000 = 23090 190 = AT, =112
A 2006 A’I‘2006
KKHP(X’YH AEH2006 AEH(GT.T)%OOG =
[TAnBvcuog
=200 = w =1.500 [TAnOvouo6g
I[TAnBvouodg

Avepyotr

Ioo. Avapyiagz()%:% 100=12,5= =2 00-100 =150 Avepyor

E.A200s=ATaoyoAoOUEVOL 2006 TAVEPYOL006
1.200 = Amacyolovuevor + 150
Amoacyohlovuevolr =1050
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I2.
‘Etoc AEIl(1p.1) AT AEIl(c1.7)
105 252.000
b - -100 =268.800
2005 252.000 1 100 =93,75 93.75
AT2005:M -100 = E -100 = 93,75
2006 1 12
AETI(07.7)s005= 2B Danns 1 - 252000 55 566 500
2005 s
I3.
PDGM(’)Q 7'[7\.1]9.2005_
yo0e="Tao0s ~ATw0s 159 19079375 456 066100 = 6,66%
AT, 93,75
OMAAA A
Twyn (P) [Tpocpepduevn
ToGOTNTA

18 200

20 245
Al. VC,,, =W-L=900-4=3600
Y1ov mivaka tpospopag P=M C
Apa MC,, = 2YE _ 99 YE24523600 0945~ 4500

AQ 245-200

A2.

P Q520

18 20020=4000

20 24520=4900
A3.
Qy=v+06-P
4000=y+0-18
4900 =y+0-20

Agpoapodpue kotd péAN kot Bpickovue 6=450, y=-4100
Apa Q=-4100+450P
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A4.

QD = Qs

8400-50p=-4100+450p
12500=500p
PE:25

Q, =8400-50-25=Q, = 7150



